



The solution of the time-fractional diffusion equation by the generalized differential transform method



Ayşegül Çetinkaya*, Onur Kıymaz

Ahi Evran University, Department of Mathematics, 40100 Kırşehir, Turkey

ARTICLE INFO

Article history:

Received 23 August 2011

Received in revised form 10 December 2011

Accepted 12 December 2011

Keywords:

Numerical methods

Analytical solution

Time-fractional diffusion equation

Generalized differential transform method

Mittag-Leffler function

ABSTRACT

In the present paper, a general recurrence relation for determining the solutions of the time-fractional diffusion equation is obtained with the generalized differential transform method. The obtained relation will help us to solve time-fractional diffusion equations with various external forces and initial conditions. Four illustrative examples are given.

© 2011 Elsevier Ltd. All rights reserved.

1. Introduction

Fractional diffusion equations represent extensions of basic equations of mathematical physics. Analytical methods used to solve these equations have very restricted applications and the numerical techniques commonly used give rise to rounding of errors. These kinds of equations have been intensively studied since the nineties [1–3].

Recently, Saha Ray and Bera have used the Adomian decomposition method (ADM) to find the solution of a time-fractional diffusion equation of order $\beta = 1/2$ in [4]. Das has used the variational iteration method (VIM) for the same equation with the initial conditions $1, x$ and x^2 in [5], and for time-fractional diffusion equation of order β , ($0 < \beta \leq 1$) with the initial conditions $x^n, n \in \mathbb{N}$ in [6].

There are several definitions of a fractional derivative. In this paper, we deal only with the Caputo fractional derivative. The Caputo fractional derivative of order β is defined as

$$D_{t_0}^{\beta} f(t) = J_{t_0}^{m-\beta} \left[\frac{d^m}{dt^m} f(t) \right], \quad m-1 < \beta \leq m$$

where m is a positive integer [7,8]. Here $J_{t_0}^{\mu}$ is the Riemann–Liouville integral operator of order $\mu \geq 0$ defined by

$$J_{t_0}^{\mu} f(t) = \frac{1}{\Gamma(\mu)} \int_{t_0}^t (t-\tau)^{\mu-1} f(\tau) d\tau, \quad t > t_0,$$

$$J_{t_0}^0 f(t) = f(t).$$

In this work, we consider the following time-fractional diffusion equation

$$D_t^{\beta} u = \lambda \frac{\partial^2 u}{\partial x^2} - \frac{\partial}{\partial x} (F(x)u(x, t)), \quad 0 < \beta \leq 1, \quad x, t > 0 \quad (1)$$

* Corresponding author.

E-mail address: acetinkaya@ahievran.edu.tr (A. Çetinkaya).

with initial condition $u(x, 0) = f(x)$. Here λ is a positive constant, $F(x)$ is the external force, $u(x, t)$ represents the probability density function of finding a particle at the point x in the time t and $D_t^\beta u(x, t) = J_0^{1-\beta} \left[\frac{\partial}{\partial t} u(x, t) \right]$.

The main object of this work is to give a general recurrence relation for obtaining the solutions of (1) with the generalized differential transform method (GDTM). This is the first study that this type of problem is solved for a given general external force $F(x)$ and initial condition $f(x)$.

2. Generalized differential transform

Consider a function of two variables $u(x, t)$, and suppose that it can be represented as a product of two single-variable functions, i.e., $u(x, t) = f(x)g(t)$. Based on the properties of generalized one-dimensional differential transform, the function $u(x, t)$ can be represented as

$$\begin{aligned} u(x, t) &= \sum_{k=0}^{\infty} F_\alpha(k)(x - x_0)^{k\alpha} \sum_{h=0}^{\infty} G_\beta(h)(t - t_0)^{h\beta} \\ &= \sum_{k=0}^{\infty} \sum_{h=0}^{\infty} U_{\alpha,\beta}(k, h)(x - x_0)^{k\alpha} (t - t_0)^{h\beta} \end{aligned} \quad (2)$$

where $0 < \alpha, \beta \leq 1$. The generalized two-dimensional differential transform of the function $u(x, t)$ is given by

$$U_{\alpha,\beta}(k, h) = \frac{1}{\Gamma(\alpha k + 1)\Gamma(\beta h + 1)} \left[(D_{x_0}^\alpha)^k (D_{t_0}^\beta)^h u(x, t) \right]_{(x_0, t_0)} \quad (3)$$

where $(D_{x_0}^\alpha)^k = D_{x_0}^\alpha D_{x_0}^\alpha \cdots D_{x_0}^\alpha$, k -times. Besides, Eq. (2) is also called as the generalized inverse differential transform of $U_{\alpha,\beta}(k, h)$. In case of $\alpha = \beta = 1$, the generalized two-dimensional differential transform (3) reduces to the classical two-dimensional differential transform.

Suppose that $U_{\alpha,\beta}(k, h)$, $V_{\alpha,\beta}(k, h)$ and $W_{\alpha,\beta}(k, h)$ are the differential transformations of the functions $u(x, t)$, $v(x, t)$ and $w(x, t)$, respectively. Based on Eqs. (2) and (3), we have the following results [9–13].

1. If $u(x, t) = v(x, t) \pm w(x, t)$, then $U_{\alpha,\beta}(k, h) = V_{\alpha,\beta}(k, h) \pm W_{\alpha,\beta}(k, h)$.
2. If $u(x, t) = \lambda v(x, t)$, $\lambda \in \mathbb{R}$, then $U_{\alpha,\beta}(k, h) = \lambda V_{\alpha,\beta}(k, h)$.
3. If $u(x, t) = v(x, t)w(x, t)$, then

$$U_{\alpha,\beta}(k, h) = \sum_{r=0}^k \sum_{s=0}^h V_{\alpha,\beta}(r, h-s) W_{\alpha,\beta}(k-r, s).$$

4. If $u(x, t) = (x - x_0)^{n\alpha} (t - t_0)^{m\beta}$, then $U_{\alpha,\beta}(k, h) = \delta(k - n)\delta(h - m)$.
5. If $u(x, t) = f(x)g(t)$ and the function $f(x) = x^\lambda h(x)$, where $\lambda > -1$, $h(x)$ has the generalized Taylor series expansion $h(x) = \sum_{n=0}^{\infty} a_n (x - x_0)^{\alpha n}$, and
 - (a) $\beta < \lambda + 1$ and α arbitrary or
 - (b) $\beta \geq \lambda + 1$, α arbitrary and $a_n = 0$ for $n = 0, 1, \dots, m - 1$, where $m - 1 < \beta \leq m$,
 then the generalized differential transform (3) becomes

$$U_{\alpha,\beta}(k, h) = \frac{1}{\Gamma(\alpha k + 1)\Gamma(\beta h + 1)} \left[D_{x_0}^{\alpha k} (D_{t_0}^\beta)^h u(x, t) \right]_{(x_0, t_0)}.$$

6. If $u(x, t) = D_{x_0}^\gamma v(x, t)$, $m - 1 < \gamma \leq m$, and $v(x, t) = f(x)g(t)$, then

$$U_{\alpha,\beta}(k, h) = \frac{\Gamma(\alpha k + \gamma + 1)}{\Gamma(\alpha k + 1)} V_{\alpha,\beta}(k + \gamma/\alpha, h).$$

7. If $u(x, t) = D_{t_0}^\gamma v(x, t)$, $m - 1 < \gamma \leq m$, and $v(x, t) = f(x)g(t)$, then

$$U_{\alpha,\beta}(k, h) = \frac{\Gamma(\beta h + \gamma + 1)}{\Gamma(\beta h + 1)} V_{\alpha,\beta}(k, h + \gamma/\beta).$$

3. The solution of the general problem

In this section we present a general recurrence relation for the generalized differential transform (GDT) of Eq. (1) by the following theorem. With the help of the given general recurrence relation, the solutions of time-fractional diffusion equations will be easily calculate with GDTM.

Theorem 1. If the function $F(x)$ has the Maclaurin series expansion $F(x) = \sum_{n=0}^{\infty} a_n x^n$ with a radius of convergence $R > 0$ where $a_n = \frac{F^{(n)}(0)}{n!}$ for $n = 0, 1, 2, \dots$, then the GDT of Eq. (1) is

$$U_{1,\beta}(k, h + 1) = \frac{\Gamma(\beta h + 1)}{\Gamma(\beta(h + 1) + 1)}(k + 1) \left[\lambda(k + 2)U_{1,\beta}(k + 2, h) - \sum_{i=0}^{k+1} a_{k+1-i}U_{1,\beta}(i, h) \right]. \tag{4}$$

Proof. Applying GDT to both sides of the Eq. (1), we get

$$\begin{aligned} \frac{\Gamma(\beta(h + 1) + 1)}{\Gamma(\beta h + 1)}U_{1,\beta}(k, h + 1) &= \lambda(k + 1)(k + 2)U_{1,\beta}(k + 2, h) \\ &\quad - (k + 1) \sum_{r=0}^{k+1} \sum_{s=0}^h \sum_{n=0}^{\infty} a_n \delta(r - n)\delta(h - s)U_{1,\beta}(k - r + 1, s). \end{aligned}$$

To make $\delta(r - n) \neq 0$ and $\delta(h - s) \neq 0$, we take $s = h$ and $n = r$. Thus,

$$\frac{\Gamma(\beta(h + 1) + 1)}{\Gamma(\beta h + 1)}U_{1,\beta}(k, h + 1) = \lambda(k + 1)(k + 2)U_{1,\beta}(k + 2, h) - (k + 1) \sum_{r=0}^{k+1} a_r U_{1,\beta}(k - r + 1, h).$$

Consequently, taking $r = k - i + 1$, we obtain (4). \square

Furthermore, the reader easily see that

$$U_{1,\beta}(k, 0) = \frac{f^{(k)}(0)}{k!}, \quad k = 0, 1, 2, \dots \tag{5}$$

is the GDT of the initial condition $u(x, 0) = f(x)$.

4. Numerical examples

In this section, we have selected four examples which will ultimately show the simplicity and effectiveness of the proposed general recurrence relation (4). The first three examples also solved with VIM and ADM before.

Example 2. Taking $F(x) = -x$, $\lambda = 1$ in (1) and choosing $f(x) = 1$, we get the following initial value problem:

$$\begin{cases} D_t^\beta u = \frac{\partial^2 u}{\partial x^2} + \frac{\partial}{\partial x}(xu), \\ u(x, 0) = 1. \end{cases} \tag{6}$$

Since $F(x) = -x$, we find $a_1 = -1$ and $a_n = 0$ for $n \neq 1$. Also, substituting $f(x) = 1$ in (5), we have

$$U_{1,\beta}(0, 0) = 1, \quad U_{1,\beta}(k, 0) = 0 \quad \text{for } k \neq 0.$$

Therefore, using the general recurrence relation (4), we get

$$\begin{aligned} U_{1,\beta}(0, 1) &= \frac{1}{\Gamma(\beta + 1)}, & U_{1,\beta}(k, 1) &= 0 \quad \text{for } k \neq 0, \\ U_{1,\beta}(0, 2) &= \frac{1}{\Gamma(2\beta + 1)}, & U_{1,\beta}(k, 2) &= 0 \quad \text{for } k \neq 0, \\ U_{1,\beta}(0, 3) &= \frac{1}{\Gamma(3\beta + 1)}, & U_{1,\beta}(k, 3) &= 0 \quad \text{for } k \neq 0, \\ U_{1,\beta}(0, 4) &= \frac{1}{\Gamma(4\beta + 1)}, & U_{1,\beta}(k, 4) &= 0 \quad \text{for } k \neq 0, \\ &\vdots & & \\ U_{1,\beta}(0, h) &= \frac{1}{\Gamma(h\beta + 1)}, & U_{1,\beta}(k, h) &= 0 \quad \text{for } k \neq 0. \end{aligned}$$

Thus, the solution of (6) is given by

$$u(x, t) = \sum_{h=0}^{\infty} \frac{(t^\beta)^h}{\Gamma(h\beta + 1)} = E_\beta(t^\beta)$$

where $E_\beta(t) = \sum_{n=0}^{\infty} \frac{t^n}{\Gamma(n\beta + 1)}$, $\beta > 0$ is the Mittag-Leffler function in one parameter.

For the special case $\beta = 1/2$, the above result is in complete agreement with [5].

Example 3. Taking $F(x) = -x$, $\lambda = 1$ in (1) and choosing $f(x) = x$, we get the following initial value problem:

$$\begin{cases} D_t^\beta u = \frac{\partial^2 u}{\partial x^2} + \frac{\partial}{\partial x}(xu), \\ u(x, 0) = x. \end{cases} \quad (7)$$

Since $F(x) = -x$, we find $a_1 = -1$ and $a_n = 0$ for $n \neq 1$. Also, substituting $f(x) = x$ in (5), we have

$$U_{1,\beta}(1, 0) = 1, \quad U_{1,\beta}(k, 0) = 0 \quad \text{for } k \neq 1.$$

Therefore, using the general recurrence relation (4), we get

$$\begin{aligned} U_{1,\beta}(1, 1) &= \frac{2}{\Gamma(\beta + 1)}, & U_{1,\beta}(k, 1) &= 0 \quad \text{for } k \neq 1, \\ U_{1,\beta}(1, 2) &= \frac{2^2}{\Gamma(2\beta + 1)}, & U_{1,\beta}(k, 2) &= 0 \quad \text{for } k \neq 1, \\ U_{1,\beta}(1, 3) &= \frac{2^3}{\Gamma(3\beta + 1)}, & U_{1,\beta}(k, 3) &= 0 \quad \text{for } k \neq 1, \\ U_{1,\beta}(1, 4) &= \frac{2^4}{\Gamma(4\beta + 1)}, & U_{1,\beta}(k, 4) &= 0 \quad \text{for } k \neq 1, \\ &\vdots & & \\ U_{1,\beta}(1, h) &= \frac{2^h}{\Gamma(h\beta + 1)}, & U_{1,\beta}(k, h) &= 0 \quad \text{for } k \neq 1. \end{aligned}$$

Thus, the solution of (7) is given by

$$u(x, t) = x \sum_{h=0}^{\infty} \frac{(2t^\beta)^h}{\Gamma(h\beta + 1)} = x E_\beta(2t^\beta).$$

The same solution has been obtained by Das [6]. Also the above result is in complete agreement with [4,5] for $\beta = 1/2$.

Example 4. Taking $F(x) = -x$, $\lambda = 1$ in (1) and choosing $f(x) = x^2$, we get the following initial value problem:

$$\begin{cases} D_t^\beta u = \frac{\partial^2 u}{\partial x^2} + \frac{\partial}{\partial x}(xu), \\ u(x, 0) = x^2. \end{cases} \quad (8)$$

Since $F(x) = -x$, we find $a_1 = -1$ and $a_n = 0$ for $n \neq 1$. Also, substituting $f(x) = x^2$ in (5), we have

$$U_{1,\beta}(2, 0) = 1, \quad U_{1,\beta}(k, 0) = 0 \quad \text{for } k \neq 2.$$

Therefore, using the general recurrence relation (4), we get

$$\begin{aligned} U_{1,\beta}(0, 1) &= \frac{2}{\Gamma(\beta + 1)}, & U_{1,\beta}(2, 1) &= \frac{3}{\Gamma(\beta + 1)}, & U_{1,\beta}(k, 1) &= 0 \quad \text{for } k \neq 0, 2, \\ U_{1,\beta}(0, 2) &= \frac{8}{\Gamma(2\beta + 1)}, & U_{1,\beta}(2, 2) &= \frac{3^2}{\Gamma(2\beta + 1)}, & U_{1,\beta}(k, 2) &= 0 \quad \text{for } k \neq 0, 2, \\ U_{1,\beta}(0, 3) &= \frac{26}{\Gamma(3\beta + 1)}, & U_{1,\beta}(2, 3) &= \frac{3^3}{\Gamma(3\beta + 1)}, & U_{1,\beta}(k, 3) &= 0 \quad \text{for } k \neq 0, 2, \\ &\vdots & & & & \\ U_{1,\beta}(0, h) &= \frac{3^h - 1}{\Gamma(h\beta + 1)}, & U_{1,\beta}(2, h) &= \frac{3^h}{\Gamma(h\beta + 1)}, & U_{1,\beta}(k, h) &= 0 \quad \text{for } k \neq 0, 2. \end{aligned}$$

Thus, the solution of (8) is given by

$$\begin{aligned}
 u(x, t) &= x^2 + \frac{(2 + 3x^2)}{\Gamma(\beta + 1)} t^\beta + \frac{(8 + 9x^2)}{\Gamma(2\beta + 1)} t^{2\beta} + \frac{(26 + 27x^2)}{\Gamma(3\beta + 1)} t^{3\beta} + \dots \\
 &= \sum_{h=0}^{\infty} \frac{3^h(1 + x^2) - 1}{\Gamma(h\beta + 1)} t^{h\beta} \\
 &= E_\beta(pt^\beta)
 \end{aligned}$$

where $p^h = 3^h(1 + x^2) - 1$.

The same solution has been obtained by Das [6]. Also this solution is in complete agreement with [5] for $\beta = 1/2$.

Example 5. Taking $F(x) = e^{-x}$, $\lambda = 1$ in (1) and choosing $f(x) = e^x$, we get the following initial value problem:

$$\begin{cases} D_t^\beta u = \frac{\partial^2 u}{\partial x^2} - \frac{\partial}{\partial x}(e^{-x}u), \\ u(x, 0) = e^x. \end{cases} \tag{9}$$

Since $F(x) = e^{-x}$, we find $a_n = \frac{(-1)^n}{n!}$, $n = 0, 1, 2, \dots$. Also, substituting $f(x) = e^x$ in (5), we have

$$U_{1,\beta}(k, 0) = \frac{1}{k!}, \quad k = 0, 1, 2, \dots$$

Therefore, using the general recurrence relation (4), we get

$$U_{1,\beta}(k, h) = \frac{1}{k! \Gamma(h\beta + 1)}, \quad k, h = 0, 1, 2, \dots$$

The first few components of $U_{1,\beta}(k, h)$ can be seen in Table 1. Thus, the solution of (9) is given by

$$\begin{aligned}
 u(x, t) &= \sum_{k=0}^{\infty} \sum_{h=0}^{\infty} \frac{1}{k! \Gamma(h\beta + 1)} x^k t^{h\beta} \\
 &= e^x E_\beta(t^\beta).
 \end{aligned}$$

Table 1
Some values of the components $U_{1,\beta}(k, h)$ obtained from (4) for Eq. (9).

$U_{1,\beta}(k, h)$	$k = 0$	$k = 1$	$k = 2$	$k = 3$	$k = 4$
$h = 0$	1	1	$\frac{1}{2!}$	$\frac{1}{3!}$	$\frac{1}{4!}$
$h = 1$	$\frac{1}{\Gamma(\beta+1)}$	$\frac{1}{\Gamma(\beta+1)}$	$\frac{1}{2!\Gamma(\beta+1)}$	$\frac{1}{3!\Gamma(\beta+1)}$	$\frac{1}{4!\Gamma(\beta+1)}$
$h = 2$	$\frac{1}{\Gamma(2\beta+1)}$	$\frac{1}{\Gamma(2\beta+1)}$	$\frac{1}{2!\Gamma(2\beta+1)}$	$\frac{1}{3!\Gamma(2\beta+1)}$	$\frac{1}{4!\Gamma(2\beta+1)}$
$h = 3$	$\frac{1}{\Gamma(3\beta+1)}$	$\frac{1}{\Gamma(3\beta+1)}$	$\frac{1}{2!\Gamma(3\beta+1)}$	$\frac{1}{3!\Gamma(3\beta+1)}$	$\frac{1}{4!\Gamma(3\beta+1)}$
$h = 4$	$\frac{1}{\Gamma(4\beta+1)}$	$\frac{1}{\Gamma(4\beta+1)}$	$\frac{1}{2!\Gamma(4\beta+1)}$	$\frac{1}{3!\Gamma(4\beta+1)}$	$\frac{1}{4!\Gamma(4\beta+1)}$

5. Conclusion

In this paper, we present a general recurrence relation for (1) by using GDTM. The recurrence relation presented in this study is applied to four time-fractional diffusion equations that exist in the literature except the last one. The results evaluated are in good agreement with the already existing ones. Shortly, the general recurrence relation works successfully in handling time-fractional diffusion equations with a minimum size of calculations.

Acknowledgments

The authors would like to thank the referees for critical reading of the manuscript and valuable comments.

This work was supported by the Scientific Research Projects Unit of Ahi Evran University under the project number of FBA-11-17.

References

[1] J.M. Angulo, M.D. Ruiz-Medina, V.V. Anh, W. Grecksch, Fractional diffusion and fractional heat equation, Adv. Appl. Probab. 32 (4) (2000) 1077–1099.
 [2] A.N. Kochubei, Fractional order diffusion, Differ. Equ. 26 (4) (1990) 485–492.
 [3] F. Mainardi, The fundamental solutions for the fractional diffusion-wave equation, Appl. Math. Lett. 9 (6) (1996) 23–28.
 [4] S. Saha Ray, R.K. Bera, Analytical solution of a fractional diffusion equation by Adomian decomposition method, Appl. Math. Comput. 174 (1) (2006) 329–336.

- [5] S. Das, Analytical solution of a fractional diffusion equation by variational iteration method, *Comput. Math. Appl.* 57 (3) (2009) 483–487.
- [6] S. Das, A note on fractional diffusion equations, *Chaos Solitons Fractals* 42 (4) (2009) 2074–2079.
- [7] M. Caputo, Linear models of dissipation whose Q is almost frequency independent II, *Geophys. J. R. Astron. Soc.* 13 (1967) 529–539.
- [8] I. Podlubny, *Fractional Differential Equations*, Academic Press, San Diego, CA, 1999.
- [9] S. Momani, Z. Odibat, A novel method for nonlinear fractional partial differential equations: combination of DTM and generalized Taylor's formula, *J. Comput. Appl. Math.* 220 (1–2) (2008) 85–95.
- [10] Z. Odibat, S. Momani, A generalized differential transform method for linear partial differential equations of fractional order, *Appl. Math. Lett.* 21 (2) (2008) 194–199.
- [11] Z. Odibat, N. Shawagfeh, Generalized Taylor's formula, *Appl. Math. Comput.* 186 (1) (2007) 286–293.
- [12] S. Momani, Z. Odibat, V.S. Ertürk, Generalized differential transform method for solving a space- and time-fractional diffusion-wave equation, *Phys. Lett. A* 370 (5–6) (2007) 379–387.
- [13] L. Jin-Cun, H. Guo-Lin, New approximate solution for time-fractional coupled KdV equations by generalised differential transform method, *Chin. Phys. B* 19 (11) (2010) 110203.